# Chesterfield Elementary School

# 2021-2022 Calendar

#### SEPTEMBER 2021 M T W F 1 3 6 7 9 8 10 13 14 15 16 17 20 21 22 23 24 27 29 28 30

OCTOBER 2021						
M T W T F						
				1		
4	5	6	7	8		
11	12	13	14	15		
18	19	20	21	22		
25	26	27	28	29		
18	19	20	21	2		

NOVEMBER 2021					
M	T	T	F		
1	2	3	4	5	
8	9	10	11	12	
15	16	17	18	19	
22	23	24	25	26	
29	30				

DECEMBER 2021						
М	M T W T					
		1	2	3		
6	7	8	9	10		
13	14	15	16	17		
20	21	22	23	24		
27	28	29	30	31		

JANUARY 2022					
M T W T F					
3	4	5	6	7	
10	11	12	13	14	
17	18	19	20	21	
24	25	26	27	28	
31					

SCHOOL CLOSED

SEPTEMBER (18 Student/20 Staff Days)
--------------------------------------

1	,2.	Staff	In:	Ser	vice	Days
---	-----	-------	-----	-----	------	------

3,6......School Closed—Labor Day Weekend

7......First Day of School for Students

9......Back-to-School Night

### OCTOBER (20 Student/21 Staff Days)

11......School Closed—Staff In-Service

19......Mid-Trimester Progress Report

### NOVEMBER (17 Student/18 Staff Days)

2.....School Closed—Staff In-Service

4-5......School Closed—NJEA Convention

18......Early Dismissal\*—Evening Parent/Teacher Conferences 19.......Early Dismissal\*—Afternoon Parent/Teacher Conferences

19......Early Dishinssal —Alternoon Farent Teacher Conference

22......Early Dismissal\*—Evening Parent/Teacher Conferences

23......Early Dismissal\*—Afternoon Parent/Teacher Conferences

24......Early Dismissal\*

25-26...School Closed—Thanksgiving Holiday

### **DECEMBER (17 Student/Staff Days)**

7......End of 1st Trimester

20......Report Cards Available Online

23......Early Dismissal—Winter Break Begins (through Jan. 2)

### JANUARY (20 Student/Staff Days)

3.....School Re-Opens

17......School Closed—Martin Luther King Day

27......Mid-Trimester Progress Report

### FEBRUARY (17 Student/18 Staff Days)

18-21...School Closed-Presidents Day Weekend

22......School Closed—Staff In-Service

### MARCH (23 Student/Staff Days)

15.....End of 2nd Trimester

18......Early Dismissal\*—Parent/Teacher Conferences

28......Report Cards Available Online

### APRIL (15 Student/Staff Days)

15.....School Closed, Spring Break Begins

25.....School Re-Opens

#### MAY (21 Student/Staff Days)

4......Mid Trimester Progress Report

30.....School Closed—Memorial Day

### JUNE (12 Student//Staff Days)

14-16....Early Dismissal Days\*

15......Tentative 6th Grade Graduation

16.....Last Day of School

16.....Report Cards Available Online

\*No lunch is served on early dismissal days. Calendar Approved:

The following are make up days for emergency school closings: February 18, June 20, 21, 22,23

(If additional days are needed, they will be taken from spring break: April 22, 21, 20)

To view the PTA or CPEF's Calendar of Events, please go to Chesterfield School's <u>website</u> and click on the appropriate link.

F	FEBRUARY 2022					
M	M T W T F					
	1	2	3	4		
7	8	9	10	11		
14	15	16	17	18		
21 22 23 24 25						
28						

	MARCH 2022					
M	M T W T					
	1	2	3	4		
7	8	9	10	11		
14	15	16	17	18		
21	22	24	25			
28	29	30	31			

APRIL 2022						
M T W T F						
4	5	6	7	8		
11	12	13	14	15		
18	19	20	21	22		
25	26	27	28	29		

	MAY 2022					
M	T	w	T	F		
2	3	4	5	6		
9	10	11	12	13		
16	17	18	19	20		
23	24	25	26	27		
30	31					

JUNE 2022						
M	M T W T					
		1	2	3		
6	7	8	9	10		
13	14	15	16	17		
20	21	22	23	24		
27	28	29	30			

# Chesterfield Elementary School

SEPTEMBER 2021						
M	T	w	T	F		
		1	2	3		
6	7	8	AM	10		
13	14	15	16	17		
20	21	22	23	24		
27	28	29	30			

OCTOBER 2021				
M	T	w	T	F
				1
4	5	6	7	8
11	12	13	14	15
18	19	20	21	22
25	26	27	28	29

NOVEMBER 2021				
М	T	w	T	F
1	2	3	4	5
8	9	10	11	12
15	16	17	PM	AM
PM	AM	PM	25	26
29	30			

DECEMBER 2021				
M	T	w	T	F
		1	2	3
6	7	8	9	10
13	14	15	16	17
20	21	22	AM	24
27	28	29	30	31

JANUARY 2022				
M	T	w	T	F
3	4	5	6	7
10	11	12	13	14
17	18	19	20	21
24	25	26	27	28
31				

### Little Dragons 1 2021-2022 Calendar

### SEPTEMBER (18 Student/20 Staff Days)

1,2.....Staff In-Service Days

3,6.....School Closed-Labor Day Weekend

7......First Day of School for Students

9.....Back-to-School Night

### OCTOBER (20 Student/21 Staff Days)

11......School Closed—Staff In-Service

### NOVEMBER (17 Student/18 Staff Days)

2......School Closed—Staff In-Service

4-5......School Closed—NJEA Convention

18......Early Dismissal\*—Evening Parent/Teacher Conferences 19......Early Dismissal\*—Afternoon Parent/Teacher Conferences

22......Early Dismissal\*—Evening Parent/Teacher Conferences

23......Early Dismissal\*—Afternoon Parent/Teacher Conferences

24.....Early Dismissal\*

25-26...School Closed—Thanksgiving Holiday

### **DECEMBER (17 Student/Staff Days)**

23......Early Dismissal\*—Winter Break Begins (through Jan. 2)

### JANUARY (20 Student/Staff Days)

3.....School Re-Opens

17......School Closed—Martin Luther King Day

### FEBRUARY (17 Student/18 Staff Days)

18-21...School Closed-Presidents Day Weekend

22......School Closed—Staff In-Service

#### MARCH (23 Student/Staff Days)

18......Early Dismissal\*—Parent/Teacher Conferences

### APRIL (15 Student/Staff Days)

15......School Closed, Spring Break Begins

25.....School Re-Opens

### MAY (21 Student/Staff Days)

30.....School Closed-Memorial Day

### JUNE (12 Student/Staff Days)

14-16....Early Dismissal Days\*

15......Tentative 6th Grade Graduation

16.....Last Day of School

### Calendar Approved:

If there is a delayed opening, PM class only will attend

The following are make-up days for emergency school closings: February 18, June 20, 21, 22, 23

(If additional days are needed, they will be taken from spring break: April 22, 21, 20)

To view the PTA or CPEF's Calendar of Events, please go to Chesterfield School's website and click on the appropriate link.

FEBRUARY 2022							
M	T	w	T	F			
	1	2	3	4			
7	8	9	10	11			
14	15	16	17	18			
21	22	23	24	25			
28	28						

MARCH 2022				
M	T	w	T	F
	1	2	3	4
7	8	9	10	11
14	15	16	17	PM
21	22	23	24	25
28	29	30	31	

APRIL 2022				
M	T	w	T	F
				1
4	5	6	7	8
11	12	13	14	15
18	19	20	21	22
25	26	27	28	29

MAY 2022					
M	T	w	T	F	
2	3	4	5	6	
9	10	11	12	13	
16	17	18	19	20	
23	24	25	26	27	
30	31				

JUNE 2022					
M	M T W T				
		1	2	3	
6	7	8	9	10	
13	AM	PM	AM	17	
20	21	22	23	24	
27	28	29	30		

# Chesterfield Elementary School

SEPTEMBER 2021				
М	T	w	T	F
		1	2	3
6	7	8	9	10
13	14	15	16	17
20	21	22	23	24
27	28	29	30	

OCTOBER 2021				
M	T	w	T	F
				1
4	5	6	7	8
11	12	13	14	15
18	19	20	21	22
25	26	27	28	29

NOVEMBER 2021				
M	T	w	T	F
1	2	3	4	5
8	9	10	11	12
15	16	17	18	19
22	23	24	25	26
29	30			

D	DECEMBER 2021			
M	T	w	T	F
		1	2	3
6	7	8	9	10
13	14	15	16	17
20	21	22	23	24
27	28	29	30	31

JANUARY 2022				
M	T	w	T	F
3	4	5	6	7
10	11	12	13	14
17	18	19	20	21
24	25	26	27	28
31				

### Little Dragons 2 2021-2022 Calendar

### SEPTEMBER (18 Student/20 Staff Days)

1,2.....Staff In-Service Days

3,6.....School Closed-Labor Day Weekend

7......First Day of School for Students

9.....Back-to-School Night

### OCTOBER (20 Student/21 Staff Days)

11......School Closed—Staff In-Service

### NOVEMBER (17 Student/18 Staff Days)

2......School Closed—Staff In-Service

4-5......School Closed—NJEA Convention

18......Early Dismissal\*—Evening Parent/Teacher Conferences

19......Early Dismissal\*—Afternoon Parent/Teacher Conferences 22......Early Dismissal\*—Evening Parent/Teacher Conferences

23......Early Dismissal\*—Afternoon Parent/Teacher Conferences

24.....Early Dismissal\*

25-26...School Closed—Thanksgiving Holiday

### **DECEMBER (17 Student/Staff Days)**

23......Early Dismissal\*—Winter Break Begins (through Jan. 2)

### JANUARY (20 Student/Staff Days)

3.....School Re-Opens

17......School Closed—Martin Luther King Day

### FEBRUARY (17 Student/18 Staff Days)

18-21...School Closed-Presidents Day Weekend

22......School Closed—Staff In-Service

#### MARCH (23 Student/Staff Days)

18......Early Dismissal\*—Parent/Teacher Conferences

### APRIL (15 Student/Staff Days)

15.....School Closed, Spring Break Begins

25.....School Re-Opens

### MAY (21 Student/Staff Days)

30.....School Closed-Memorial Day

### JUNE (12 Student/12 Staff Days)

14-16....Early Dismissal Days\*

15......Tentative 6th Grade Graduation

16.....Last Day of School

\*No lunch is served on early dismissal days. Calendar Approved:

The following are make-up days for emergency school closings: February 18, June 20, 21, 22, 23

(If additional days are needed, they will be taken from spring break: April 22, 21, 20)

To view the PTA or CPEF's Calendar of Events, please go to Chesterfield School's <u>website</u> and click on the appropriate link.

FEBRUARY 2022				
M	T	W	T	F
	1	2	3	4
7	8	9	10	11
14	15	16	17	18
21	22	23	24	25
28				

MARCH 2022				
M	M T W T F			
	1	2	3	4
7	8	9	10	11
14	15	16	17	18
21	22	23	24	25
28	29	30	31	

APRIL 2022				
M T W T F				
				1
4	5	6	7	8
11	12	13	14	15
18	19	20	21	22
25	26	27	28	29

MAY 2022				
M	T	w	T	F
2	3	4	5	6
9	10	11	12	13
16	17	18	19	20
23	24	25	26	27
30	31			

JUNE 2022				
M	M T W T F			
		1	2	3
6	7	8	9	10
13	14	15	16	17
20	21	22	23	24
27	28	29	30	

# Chesterfield Township School FEBRUARY 2021 HEALTH OFFICE REPORT

Date: MARCH 4, 2021

Student Visits:	Category	Number
	First Aid	10
	Medications	8
	Medical	41
	Other	5
	Counseling	0
	Health Screenings	0
	Health screenings for I&RS or CST	0
	Head lice checks	0
	DYFS	0
	Staff Visits	9
	Parent Communication	107
	Documentation of records	72
	Daily COVID screening	6

Health Office Visits:	Total: 258	Per Day: 16
Ticalti Cilico Violto.	i otal. 200	i oi bay. 10

Communicable Diseases:	Disease	Number of cases
	Strep Throat	0
	Conjunctivitis	0
	Lice	0
	Flu	0
	Impetigo	0
	Ringworm	0
	Chicken Pox	0
	COVID 19 cases	6

Accident Reports	0
Students on daily medication / treatment	1
Telephone Calls to parents for illness or injury at school	39
Attendance Meeting as Attendance Officer	0
Special Services – I&RS, IEP, 504 meetings attended by nurse	0
Telephone calls to Poison Control	0
Students Out of District	8
DYFS	0
Home Visits	0
Students on Homebound Instruction	0
COVID 19 Contact Tracing	59

- Collaborated with BCHD on individual cases r/t COVID
- Data entry of medical information updates for incoming 6th grade students
- DOH for yearly immunization audit and IMM 7 report submitted: Audit date Feb 24; waiting for report from DOH
- Finalized and streamlined forms and process for Kindergarten Registration process
- Audit Staff files
- Started immunization compliance audit of all current students
- Annual health screening notification sent out to parents and began scheduling of students. Start date of screening March 1

School Nurse: Charmaine Ramos, MSEd, BSN, CSN, RN	Charmaine Ramos
Courtney Gauze, BSN, RN	Courtney Gauze

## **Emergency Drill Log for 2020-2021 School Year**

Month	Date	Type of Drill
September	September 17, 2020	Fire Drill
<b>*</b>	September 18, 2020	Fire Drill
October	October 29, 2020	Communications Drill
	October 30, 2020	Communications Drill
November	November 4, 2020	Fire Drill
	November 25, 2020	Lockdown Drill
December	December 1, 2020	Fire Drill
	December 4, 2020	Stay in Place Drill
January	January 27, 2021	Bomb Threat Drill
<b>,</b>	January 28 & 29, 2021	Stay in Place Fire Drill
February	February 22 & 23, 2021	Stay in Place Fire Drill
·	February 24, 2021	Class Evacuation
March	March 5, 2021	Stay in Place Fire Drill
	March 9, 2021	Stay in Place Fire Drill
April		
•		
May		
June		

### Facilities Report March 2021

- 1. We have various vendors looking at the roof to assess what kinds of repairs are needed for areas where singles have detached from the roof.
- 2. Will start to inquire vendors to come out to inspect the parking lot.
- 3. Having a contractor come out to give the district ideas on creating lunch space in the court yard as well as the back playground area.

Andrew Polo Business Administrator March 17, 2021

Work OrderID	Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number Equipment
15105	Action Taken  Closed Work Orders  Manthly Fire Fitting have Defeate PM	2/1/2021 4:56:44 2/4/2021	Robert Carter	Craft	30 Saddle Way
	Monthly - Fire Extiguishers - Refer to PM schedule details.  fire extinguishers checked out ok	Medium	Pingitor, Larry		Fire Exiguishers
15106	Closed Work Orders  Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details. playground 1 is snow covered	2/1/2021 4:56:45 2/4/2021 Medium	Robert Carter Pingitor, Larry		30 Saddle Way PLAYGROUND#1
15107	Closed Work Orders  Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details. playground 2 is snow covered	2/1/2021 4:56:45 2/4/2021 Medium	Robert Carter Pingitor, Larry		30 Saddle Way Playground#2
15108	Closed Work Orders  Monthly - PM Schedule created on 12/9/2011 Refer to PM schedule details.  motors serviced by installer	2/1/2021 4:56:46 _2/9/2021 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n/Air Conditioning	30 Saddle Way
15109	Closed Work Orders  Weekly - PM Schedule created on 1/11/2012 - Refer to PM schedule details.  not being used at this time	2/1/2021 4:56:46 2/4/2021 Medium	Robert Carter Pingitor, Larry	Equipment Maintenance	30 Saddle Way Steamer #1
15110	Closed Work Orders  Monthly - PM Schedule created on 1/11/2012 Refer to PM schedule details.  make up air unit in kitchen belt was ok filters were cleaned	2/1/2021 4:56:47 _2/25/2021 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n /Air Conditioning	30 Saddle Way
15111	Closed Work Orders  Monthly - PM Schedule created on 1/11/2012 Refer to PM schedule details.  kitchen range hood belt was ok	2/1/2021 4:56:47 _2/25/2021 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n /Air Conditioning	30 Saddle Way
15112	Closed Work Orders  Monthly - PM Schedule created on 1/11/2012 Refer to PM schedule details. ef 4 belt was changed	2/1/2021 4:56:47 _2/26/2021 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n /Air Conditioning	30 Saddle Way
15113	Closed Work Orders  Monthly - PM Schedule created on 1/11/2012 Refer to PM schedule details. ef 2 belt changed	2/1/2021 4:56:47 2/26/2021 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n /Air Conditioning	30 Saddle Way

3/2/2021 9:13:45 AM Page 1 of 8

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location  Area Number
	Action Taken	Priority		Craft	Equipment
15114	Closed Work Orders	2/1/2021 4:56:48	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/11/2012 - Refer to PM schedule details. ef 5 belt was changed	2/26/2021 Medium	Pingitor, Larry	Heating/Ventilatio n /Air Conditioning	EF#5
15115	Closed Work Orders	2/1/2021 4:56:48	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/11/2012 - Refer to PM schedule details.	_2/26/2021 Medium	Pingitor, Larry	Heating/Ventilatio	EF#6
	ef 6 belt was changed			n /Air Conditioning	21 #0
15116	Closed Work Orders	2/1/2021 4:56:48	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/11/2012 - Refer to PM schedule details.		Pingitor, Larry		
	ef9 belt changed	Medium		Heating/Ventilatio n /Air Conditioning	EF#9
	Closed Work Orders	2/1/2021 4:56:48	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/11/2012 - <sup>2</sup> Refer to PM schedule details.	2/26/2021 Medium	Pingitor, Larry	Heating/Ventilatio	EF#10
	ef 10 belt changed			n /Air Conditioning	LI # 10
15118	Closed Work Orders	2/1/2021 4:56:48	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/11/2012 - Refer to PM schedule details.	2/26/2021 Medium	Pingitor, Larry	Heating/Ventilatio	EF#12
	ef 12 belt changed	Mediani		n /Air Conditioning	CF#12
15119	Closed Work Orders	2/1/2021 4:56:48	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/11/2012 - Refer to PM schedule details.		Pingitor, Larry		
	ef 11 belt changed	Medium		Heating/Ventilatio n /Air Conditioning	EF#11
15120	Closed Work Orders	2/1/2021 4:56:48	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/11/2012 - Refer to PM schedule details.		Pingitor, Larry	Hoating //on tileto	FF#10
	ef 13 belt changed	Medium		Heating/Ventilatio n /Air Conditioning	EF#13
15121	Closed Work Orders	2/1/2021 4:56:49	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/11/2012 - Refer to PM schedule details.		Pingitor, Larry	Heating/Ventilate	FF "4.4
	ef 14 belt changed	Medium		Heating/Ventilatio n /Air Conditioning	EF#14

3/2/2021 9:13:45 AM Page 2 of 8

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15122	Closed Work Orders	2/1/2021 4:56:49	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/11/2012 - Refer to PM schedule details.  ef 15 belt changed	_2/26/2021 Medium	Pingitor, Larry	Heating/Ventilatio	EF#15
	or to bottomanged			Conditioning	
15123	Closed Work Orders	2/1/2021 4:56:49	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/11/2012 - Refer to PM schedule details.	_2/26/2021 Medium	Pingitor, Larry	Heating/Ventilatio	EF#7
5104	ef 7 belt changed	Modram		n /Air Conditioning	CF#1
15124	Closed Work Orders	2/1/2021 4:56:49	Robert Carter		30 Saddle Way
1540E	Monthly - PM Schedule created on 1/11/2012 - Refer to PM schedule details.	_2/26/2021 Medium	Pingitor, Larry	Heating/Ventilatio	FF #0
	ef 8 belt changed	Meatum		n /Air Conditioning	EF#8
15125	Closed Work Orders	2/1/2021 4:56:49	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/11/2012 - Refer to PM schedule details.	_2/24/2021 Medium	Pingitor, Larry	Heating/Ventilatio	SAF#1
	air supply fan belt was ok	Modram		n /Air Conditioning	SAF#1
15126	Closed Work Orders	2/1/2021 4:56:49	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/11/2012 Refer to PM schedule details.	_2/26/2021 Medium	Pingitor, Larry	Heating/Ventilatio	EF#3
	ef 3 belt changed	Wood Carr		n /Air Conditioning	LI #3
15127	Closed Work Orders	2/1/2021 4:56:50	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/12/2012 - Refer to PM schedule details.	2/5/2021 Medium	Pingitor, Larry	Pumps	HWP#1
	domestic hot water pump working ok				11001 17 1
15128	Closed Work Orders	2/1/2021 4:56:50	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/12/2012 - Refer to PM schedule details.	2/5/2021 Medium	Pingitor, Larry	Pumps	CWP#1 & 2
	domestic cold water pumps are ok greased pumps			•	5111 # 1 42
15129	Closed Work Orders	2/1/2021 4:56:51	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/26/2012 - Refer to PM schedule details.	2/5/2021 Medium	Pingitor, Larry		Fuel#1
	diesel fuel level for generator 659 gallons	Modium			ruei# i

3/2/2021 9:13:45 AM Page 3 of 8

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15130	Closed Work Orders	2/1/2021 4:56:51	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/30/2012 - Refer to PM schedule details.	2/5/2021 Medium	Pingitor, Larry		Solar 1
	solar readings for January 542002				oora. T
15131	Closed Work Orders	2/1/2021 4:56:52	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/27/2012 - Refer to PM schedule details.	2/12/2021 Medium	Pingitor, Larry		Generator
	generator no test needed at this time				denerabl
15132	Closed Work Orders	2/1/2021 4:56:52	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 9/10/2012 - Refer to PM schedule details.	2/5/2021 Medium	Pingitor, Larry	Landscaping	Countrard
	courtyard no issues found	Wediani		Larroscaping	Courtyard
15133	Closed Work Orders	2/1/2021 4:56:53	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 9/25/2012 - Refer to PM schedule details.	2/5/2021 Medium	Pingitor, Larry	Pest Control	IDM.
	ipm no findings at this time	Wediani		restound	IPM
15134	Closed Work Orders	2/1/2021 4:56:54	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 12/3/2012 - Refer to PM schedule details.	2/25/2021	Pingitor, Larry		
	no new leaks at this time	Medium			ROOF
15135	Closed Work Orders	2/1/2021 4:56:54	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/16/2015 - Refer to PM schedule details.	2/4/2021 Medium	Pingitor, Larry		
	all tables and benches have been replaced	Wediani			
15136	Closed Work Orders	2/1/2021 4:56:55	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 5/22/2018 - Refer to PM schedule details.	2/12/2021	Pingitor, Larry		
	geo pit no issues at this time	Medium			
15137	Closed Work Orders	2/3/2021	Amber Colville	Classroom	30 Saddle Way
	Good Morning! I am getting 2 more students in my classroom and I am in need of 2 desks	<sub>1</sub> 2/3/2021 Medium	Pingitor, Larry	Moving	333
	and 2 chairs. delivered 2 student chairs and desks			J	
15138	Closed Work Orders	2/4/2021 12:53:01	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 -	2/4/2021	Pingitor, Larry		·
	Refer to PM schedule details. heat was on no issues found	Medium		Heating/Ventilatio n /Air Conditioning	UH#11

3/2/2021 9:13:45 AM Page 4 of 8

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location  Area Number
	Action Taken	Priority		Craft	Equipment
15139	Closed Work Orders	2/4/2021 12:53:01	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	2/4/2021 Medium	Pingitor, Larry	Heating/Ventilatio	UH#12
	fire pump room heat was on no issues found			n /Air Conditioning	
15140	Closed Work Orders	2/4/2021	Wendy Lawrence	Restroom (Staff)	30 Saddle Way
	Downstairs bathroom by the faculty room faucet is leaking	2/24/2021 Medium	Pingitor, Larry	Plumbing	244
	tightened up faucet handle	Wediam		rumbing	
5141	Closed Work Orders	2/8/2021 1:14:21	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	2/9/2021	Pingitor, Larry		
	playground 1 is snow covered trash was checked	Medium			PLAYGROUND#1
15142	Closed Work Orders	2/8/2021 1:14:21	Robert Carter		30 Saddle Way
	Refer to PM schedule details	2/9/2021 Medium	Pingitor, Larry		Playground#2
	playground 2 is snow covered trash was checked	Wood and			r rayground#2
15143	Closed Work Orders	2/8/2021 1:14:22	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/27/2012 - Refer to PM schedule details.	2/12/2021 Medium	Pingitor, Larry		Generator
	generator test with load 10:45 am run time288.7	Modram			Generalor
5144	Closed Work Orders	2/8/2021 1:14:22	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 9/10/2012 - Refer to PM schedule details.	2/9/2021 Medium	Pingitor, Larry	Landscaping	Countyroud
	courtyard no issues found	WOOTH			Courtyard
5145	Closed Work Orders	2/9/2021	Larry Pingitor	Receiving	30 Saddle Way
	belt broke on john Deere snow blower	2/9/2021	Pingitor, Larry		
	replaced broken belt	High		Equipment Maintenance	
15146	Closed Work Orders	2/9/2021	Larry Pingitor	Receiving	30 Saddle Way
	service 3 push behind snow blowers	2/9/2021			
	replaced belts skid plates and rubber paddles on 3 Toro snow blowers	High		Equipment Maintenance	

3/2/2021 9:13:45 AM Page 5 of 8

Work OrderID	Status Description Action Taken	Request Date Completion Date Priority	Requester Assigned To	Area Type Building Craft	Location  Area Number  Equipment
15147	Closed Work Orders kitchen rest room toilet is leaking around top of toilet replaced bad flush valve	2/9/2021 2/10/2021 Medium	Larry Pingitor Pingitor, Larry	Kitchen Plumbing	30 Saddle Way
15148	Closed Work Orders rest room paper towel dispenser not working properly replaced dispenser	2/9/2021 2/10/2021 Medium	Larry Pingitor Pingitor, Larry	Kitchen  Custodial	30 Saddle Way
15149	Closed Work Orders  Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.  water room no issues found heat was on	2/11/2021 1:03:03 2/12/2021 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n/Air Conditioning	30 Saddle Way
15150	Closed Work Orders  Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.  fire pump room heat was on no issues	2/11/2021 1:03:04 2/12/2021 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n/Air Conditioning	30 Saddle Way UH#12
15156	Closed Work Orders  Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.  trash was pulled cleaned up goose droppings	2/15/2021 1:40:13 2/17/2021 Medium	Robert Carter Pingitor, Larry		30 Saddle Way PLAYGROUND#1
15157	Closed Work Orders  Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.  trash was checked cleaned up goose droppings on black top walkways	2/15/2021 1:40:14 2/19/2021 Medium	Robert Carter Pingitor, Larry		30 Saddle Way Playground#2
15158	Closed Work Orders  Weekly - PM Schedule created on 1/11/2012 - Refer to PM schedule details.  not in use at this time	2/15/2021 1:40:15 2/17/2021 Medium	Robert Carter Pingitor, Larry	Equipment Maintenance	30 Saddle Way Steamer #1
15159	Closed Work Orders  Weekly - PM Schedule created on 2/27/2012 - Refer to PM schedule details. generator no test needed at this time	2/15/2021 1:40:16 2/24/2021 Medium	Robert Carter Pingitor, Larry		30 Saddle Way
15160	Closed Work Orders  Weekly - PM Schedule created on 9/10/2012 - Refer to PM schedule details.  courtyard no issues found	2/15/2021 1:40:17 2/17/2021 Medium	Robert Carter Pingitor, Larry	Landscaping	30 Saddle Way Courtyard

3/2/2021 9:13:45 AM Page 6 of 8

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority		Craft	Equipment
15163	Closed Work Orders  I have a large table in my room that is not used. The table was used for the computers,	2/17/2021 2/17/2021	Melissa Hillman Pingitor, Larry	Classroom	30 Saddle Way 220
	but I do not have the computers anymore. Car this table be removed? Thank you. removed computer table from room	n Medium		Moving	
15164	Closed Work Orders	2/18/2021	Robert Carter		30 Saddle Way
15165	Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	2/21/2021	Pingitor, Larry		
	water room heat was on no issues at this time	Medium		Heating/Ventilatio n /Air Conditioning	UH#11
15165	Closed Work Orders	2/18/2021	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	2/21/2021	Pingitor, Larry	Hooting ///ontilet-	
	fire pump room heat was on no issues at this time $% \left( \frac{1}{2}\right) =\frac{1}{2}\left( \frac{1}{2}\right) =\frac{1}$	Medium		Heating/Ventilatio n /Air Conditioning	UH#12
	Closed Work Orders	2/22/2021 1:52:09	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	2/24/2021 Medium	Pingitor, Larry		PLAYGROUND#1
	playground 1 trash was ok playground is snow covered				FLATGROUND#1
5167	Closed Work Orders	2/22/2021 1:52:10	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details.	2/24/2021 Medium	Pingitor, Larry		Playaraund#2
	playground 2 is snow covered checked trash	Wediani			Playground#2
5168	Closed Work Orders	2/22/2021 1:52:11	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/27/2012 - Refer to PM schedule details.	2/24/2021	Pingitor, Larry		_
	generator loss of power run time30214 hours	Medium s			Generator
5169	Closed Work Orders	2/22/2021 1:52:12	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 9/10/2012 - Refer to PM schedule details.	2/24/2021	Pingitor, Larry	Landscaping	On contrary 1
	courtyard is snow covered no issues found	Medium		Larruscapiliy	Courtyard
5171	Closed Work Orders	2/22/2021	Nicole Hartman	Classroom	30 Saddle Way
	If available, could we have another rolling chair? Thanks! Time Available: any	2/23/2021 Medium	Pingitor, Larry	General	B307
	delivered another chair	wearum		Maintenance	

3/2/2021 9:13:45 AM Page 7 of 8

Work OrderID	Status Description Action Taken	Request Date Completion Date Priority	Requester Assigned To	Area Type Building Craft	Location  Area Number  Equipment
15175	Closed Work Orders fire pump room valve malfunctioned set off alarm Oliver fire pump controls co. replaced bad 2 inch valve	2/23/2021 2/23/2021 Emergency	Larry Pingitor Pingitor, Larry	Building Wide	30 Saddle Way
15177	Closed Work Orders  May I have another rolling chair pleaseThanks! Time Available: any time delivered another chair	2/23/2021 2/24/2021 Medium	Nicole Hartman Pingitor, Larry	Classroom  General Maintenance	30 Saddle Way B307
15179	Closed Work Orders  I have 2 electric pencil sharpeners that are broken. Can you look at them to see if we can repair them??  1 sharpener was jammed. the other one pin broke off of the bin that collects the shavings	2/24/2021 2/25/2021 Medium	Joan mueller Pingitor, Larry	Classroom  Equipment Maintenance	30 Saddle Way 227
15182	Closed Work Orders  Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.  water room heat was on no issues	2/25/2021 1:52:05 2/25/2021 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n /Air Conditioning	30 Saddle Way UH#11
15183	Closed Work Orders  Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.  fire pump room heat was on no issues	2/25/2021 1:52:05 2/25/2021 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n /Air Conditioning	30 Saddle Way UH#12
15184	Closed Work Orders main office door from vestibule not working properly took lock apart needed to be lubricated, and lock tightened up	2/25/2021 2/25/2021 Medium	Larry Pingitor Pingitor, Larry	Office  Doors and Hardware	30 Saddle Way
15185	Closed Work Orders  If there is a Half moon table available, Dr. Booth would like it to replace the back table in Wendy Lawrence's room. We would need two plexiglass dividers as well. Time Available: 8- 4 kidney shape table and 2 sneeze shields installed		Lori Wisniewski Pingitor, Larry	Classroom	30 Saddle Way B244

3/2/2021 9:13:45 AM Page 8 of 8

Month		Monthly Generation (kWh)	Cumulative from March 2011	SREC's per month	SREC's Cumulative from March 2011	SREC's sold	Rate per SREC	Total Sale Amount	Date of Sale	Remaining SREC's to sell
February, 2011	2770	2770		-		-	¢620	¢2.400.00	0/0/11	
March, 2011	8330	5560		5		5	\$620	\$3,100.00	9/8/11	
April, 2011	12790	4460		6		6	\$620	\$3,720.00	9/8/11	
May, 2011	18580	5790		7		7	\$620	\$4,340.00	9/8/11	
June, 2011	27880	9300	25110	7	25	7	\$100	\$700.00	6/1/12	
July, 2011	36008	8128	33238	8	33	8	\$100	\$800.00	6/1/12	
August, 2011	42832	6824	40062	6	39	6	\$100	\$600.00	6/1/12	
September, 2011	44594	1762	41824	1	40	1	\$100	\$100.00	6/1/12	
October, 2011	49840	5246	47070	5	45	5	\$100	\$500.00	6/1/12	
November, 2011	52780	2940	50010	3	48	3	\$100	\$300.00	6/1/12	
December, 2011	55662	2882	52892	3	51	3	\$100	\$300.00	6/1/12	
January, 2012	58390	2728	55620	3	54	3	\$100	\$300.00	6/1/12	
February, 2012	62012	3622	59242	3	57	3	\$100	\$300.00	6/1/12	
March, 2012	67228	5216	64458	5	62	5	\$100	\$500.00	6/1/12	
March, 2012				2	64	2	\$122.50	\$245.00	5/28/13	
April, 2012	73557	6329	70787	6	70	6	\$122.50	\$735.00	5/28/13	
May, 2012	80249	6692	77479	7	77	7	\$122.50	\$857.50	5/28/13	
June, 2012	86301	6052	83531	6	83	6	\$135.50	\$813.00	5/28/13	
July, 2012	92564	6263	89794	6	89	6	\$135.50	\$813.00	5/28/13	
August, 2012	98918	6354	96148	7	96	7	\$135.50	\$948.50	5/28/13	
September, 2012	103665	4747	100895	4	100	4	\$135.50	\$542.00	5/28/13	
October, 2012	106951	3286	104181	4	104	4	\$135.50	\$542.00	5/28/13	
November, 2012	109775	2824	107005	3	107	3	\$135.50	\$406.50	5/28/13	
December, 2012	111679	1904	108909	1	108	1	\$135.50	\$135.50	5/28/13	
January, 2013	114506	2827	111736	3	111	3	\$135.50	\$406.50	5/28/13	
February, 2013	117268	2762	114498	3	114	3	\$135.50	\$406.50	12/4/13	
March, 2013	120850	3582	118080	4	118	4	\$135.50	\$542.00	12/4/13	
April, 2013	127875	7025	125105	7	125	7	\$135.50	\$948.50	12/4/13	
May, 2013	134826	6951	132056	7	132	7	\$135.50	\$948.50	12/4/13	
June, 2013	141813	6987	139043	7	139	7	\$140.00	\$980.00	12/4/13	
July, 2013	146518	4705	143748	4	143	4	\$140.00	\$560.00	12/4/13	
August, 2013	152478	5960	149708	6	149	6	\$140.00	\$840.00	12/4/13	
September, 2013	158850	6372	156080	7	156	7	\$140.00	\$980.00	12/4/13	
October, 2013	161905	3055	159135	3	159	3	\$140.00	\$420.00	12/4/13	
November, 2013	165060	3155	162290	3	162	3	\$175.00	\$525.00	6/16/14	
December, 2013	166379	1319			163			1		
· · · · · · · · · · · · · · · · · · ·	168122		163609	1		1	\$175.00 \$175.00	\$175.00	6/16/14	
January, 2014		1743	165352	2	165	2	·	\$350.00	6/16/14	
February, 2014	169528	1406	166758	1	166	1	\$175.00	\$175.00	6/16/14	
March, 2014	173999	4471	171229	5	171	5	\$175.00	\$875.00	6/16/14	
April, 2014	179855	5856	177085	6	177	6	\$175.00	\$1,050.00	6/16/14	
May, 2014	186024	6169	183254	6	183	6	\$196.00	\$1,176.00	12/7/14	
June, 2014	193796	7772	191026	8	191	8	\$197.00	\$1,576.00	12/7/14	
July, 2014	200195	6399	197425	6	197	6	\$197.00	\$1,182.00	12/7/14	
August, 2014	205793	5598	203023	6	203	6	\$197.00	\$1,182.00	12/7/14	
September, 2014	210414	4621	207644	4	207	4	\$197.00	\$788.00	12/7/14	
October, 2014	214312	3898	211542	4	211	4	\$197.00	\$788.00	12/7/14	
November, 2014	216878	2566	214108	3	214	3	\$228.50	\$685.50	6/17/15	
December, 2014	218810	1932	216040	2	216	2	\$228.50	\$457.00	6/17/15	
January, 2015	220903	2093	218133	2	218	2	\$228.50	\$457.00	6/17/15	
February, 2015	223106	2203	220336	2	220	2	\$228.50	\$457.00	6/17/15	
March, 2015	226883	3777	224113	4	224	4	\$228.50	\$914.00	6/17/15	
April, 2015	232854	5971	230084	6	230	6	\$228.50	\$1,371.00	6/17/15	
May, 2015	239646 2enda\2021\3-17-202	6792	236876	6	236	6	\$258.00	\$1,548.00	12/1/15	

P:\Amy\2019-2021\Agenda\2021\3-17-2021 Agenda\Solar

June, 2015	245524	5878	242754	6	242	6	\$258.00	\$1,548.00	12/1/15	
July, 2015	252536	7012	249766	7	249	7	\$258.00	\$1,806.00	12/1/15	
August, 2015	259153	6617	256383	7	256	7	\$258.00	\$1,806.00	12/1/15	
September, 2015	263908	4755	261138	5	261	5	\$258.00	\$1,290.00	12/1/15	
October, 2015	268273	4365	265503	4	265	4	\$258.00	\$1,032.00	12/1/15	
November, 2015	271026	2753	268256	3	268	3	\$193.00	\$579.00	8/15/17	
December, 2015	273242	2216	270472	2	270	2	\$193.00	\$386.00	8/15/17	
January, 2016	275363	2121	272593	2	272	2	\$193.00	\$386.00	8/15/17	
February, 2016	277983	2620	275213	3	275	3	\$193.00	\$579.00	8/15/17	
March, 2016	283738	5755	280968	5	280	5	\$193.00	\$965.00	8/15/17	
April, 2016	289130	5392	286360	6	286	6	\$193.00	\$1,158.00	8/15/17	
May, 2016	294478	5348	291708	5	291	5	\$193.00	\$965.00	8/15/17	
June, 2016	302274	7796	299504	8	299	8	\$195.00	\$1,560.00	8/15/17	
July, 2016	308004	5730	305234	6	305	6	\$195.00	\$1,170.00	8/15/17	
August, 2016	314445	6441	311675	6	311	6	\$195.00	\$1,170.00	8/15/17	
September, 2016	319354	4909	316584	5	316	5	\$195.00	\$975.00	8/15/17	
October, 2016	323364	4010	320594	4	320	4	\$195.00	\$780.00	8/15/17	
November, 2016	326569	3205	323799	3	323	3	\$195.00	\$585.00	8/15/17	
December, 2016	328851	2282	326081	3	326	3	\$195.00	\$585.00	8/15/17	
January, 2017	330377	1526	327607	1	327	1	\$195.00	\$195.00	8/15/17	
February, 2017	333530	3153	330760	3	330	3	\$195.00	\$585.00	8/15/17	
March, 2017	337510	3980	334740	4	334	4	\$195.00	\$780.00	8/15/17	
April, 2017	342349	4839	339579	5	339	5	\$195.00	\$975.00	8/15/17	
May, 2017	348015	5666	345245	6	345	6	\$195.00	\$1,170.00	8/15/17	
June, 2017	354910	6895	352140	7	352	7	\$225.50	\$1,578.50	6/21/18	
July, 2017	360693	5783	357923	5	357	5	\$225.50	\$1,127.50	6/21/18	
August, 2017	367274	6581	364504	7	364	7	\$225.50	\$1,578.50	6/21/18	
September, 2017	371617	4343	368847	4	368	4	\$225.50	\$902.00	6/21/18	
October, 2017	375258	3641	372488	4	372	4	\$225.50	\$902.00	6/21/18	
November, 2017	378337	3079	375567	3	375	3	\$225.50	\$676.50	6/21/18	
December, 2017	380253	1916	377483	2	377	2	\$225.50	\$451.00	6/21/18	
January, 2018	382604	2351	379834	2	379	2	\$225.50	\$451.00	6/21/18	
February, 2018	385186	2582	382416	3	382	3	\$225.50	\$676.50	6/21/18	
March, 2018	389701	4515	386931	4	386	4	\$225.50	\$902.00	6/21/18	
April, 2018	393945	4244	391175	5	391	5	\$225.50	\$1,127.50	6/21/18	
May, 2018	399873	5928	397103	6	397					6
June, 2018	406148	6275	403378	6	403					6
July, 2018	412093	5945	409323	6	409					6
August, 2018	418417	6324	415647	6	415					6
September, 2018	421469	3052	418699	3	418					3
October, 2018	425118	3649	422348	4	422					4
November, 2018	427655	2537	424885	2	424					2
December, 2018	429732	2077	426962	2	426					2
January, 2019	432133	2401	429363	3	429					3
February, 2019	435366	3233	432596	3	432					3
March, 2019	440432	5066	437662	5	437					5
April, 2019	445995	5563	443225	6	443					6
May, 2019	452163	6168	449393	6	449					6
June, 2019	458474	6311	455704	6	455					6
July, 2019	467987	9513	465217	10	465					10
August, 2019	471540	3553	468770	3	468					3
September, 2019	476427	4887	473657	5	473					5
October, 2019	479948	3521	477178	4	477					4
November, 2019	483146	3198	480376	3	480					3
December, 2019	485137	1991	482367	2	482					2
January, 2020	487839	2702	485069	3	485					3

### E+mon D-mon Meter Readings

February, 2020	491107	3268	488337	3	488			3
March, 2020	498915	7808	496145	8	496			8
April, 2020	500565	1650	497795	1	497			1
May, 2020	507164	6599	504394	7	504			7
June, 2020	515283	8119	512513	8	512			8
July, 2020	521172	5889	518402	6	518			6
August, 2020	526269	5097	523499	5	523			5
September, 2020	531947	5678	529177	6	529			6
October, 2020	534481	2534	531711	2	531			2
November, 2020	537385	2904	534615	3	534			3
December, 2020	539345	1960	536575	2	536			2
January, 2021	542002	2657	539232	3	539			3
February, 2021	543046	1044	540276		539			
Totals						391	\$77,764.50	148

<sup>\*\*8/3/12:</sup> updated April and June with figures from CEPS website from 24 to 21 SREC's